BEAD GEXEF - BTT )

F04F6R | H
b 1 X % H# F O A | 5 7T

B 7 B o X 6,699 13,385 6,969 6,416

X B # K 1,176 2,909 1,434 1,475

£ P 1 K 581 1,479 758 72|

N RO K a85 2,664 1,355 1,309

Bl &£ # X 6,860 14,876 7,28 | 7,595

Nn |’ R # X 1,285 3,121 1,513 1,608

ik x M # K 1,045 2,500 1,236 1,264

it & & # K 7,876 18,836 9,043 9,793

BE o M o X 6,289 16,012 7,99 | 8,021

& 3 32,796 75,782 37,580 38,202
LF04F6R 1 H

W X 4 B T % #H F A ] 8 %z

BE o W X BETEIATA 4,517 9,354 4,701 4,653
¥ F ] 183 344 195 | 49

w® B 423 835 425 410

£ L o H 739 1,323 824 499

g R H 291 511 273 238

% BT 546 1,018 551 467

o ORX 3 6,699 13,385 6,969 6,416

N E # X = B 90 220 N 109
X & 809 1,99 | 978 1,013

= # 143 366 180 186

+ K 18 #r 8 |34 332 165 167

A - S 1,176 2,909 1,434 1,475

k P # K ® B H 136 354 180 174
& fF 16 39 17 22

£ @\ H | 24 406 194 212

& & H 96 234 113 121

R HT 139 280 168 112

K & 70 166 86 80

e K 3 58| 1,479 758 72|

N R O X N R H] 178 423 217 206
BN R H | 45 395 200 195

7 PR HT 31 75 36 39

B R ¥ 458 1,321 680 64|

g B 64 179 87 q2

F BT 109 27| 135 136

o K 3 985 2,664 1,355 1,309
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BEAD GBXF - BT T35

Sf4F6H | B
*r R % Bq T 4% HF B | A = B -8
Bl %&£ #% x | Bl &% H 627 1,534 746 788
F9 & %7 B 8T | 2 2 0
A i HT 163 420 202 218
m v B 716 1,638 796 842
& % 6 q35 2,188 1,011 1,177
Bl % ] 100 400 161 239
= & 1,902 3,921 1,959 1,962
EZEE | TB 227 425 211 214
B 2TB8B 423 868 428 440
8 3 T8 462 775 395 380
8 4 TB 712 1,369 710 659
MW I 30 18 12
NGB OFE S HT 426 907 446 46|
FE EC & %7 E 0T 17 44 18 26
N wE o ET 138 355 178 177
o X 6,860 14,876 7,28 | 7,595
IR K3t B R AR ET 1,285 3,121 1,513 1,608
#H K3 1,285 3,121 1,513 1,608
it XX R i X & ¢ € 76 233 119 | 14
& ¢ ¥ @ ] 64 151 72 79
A Bk OE T 110 259 123 136
2 @\ 65 151 77 74
it # H 73 202 100 102
N OB 31 88 44 44
& ‘A 63 182 94 88
X B 6 19 8 I
e | TH q2 189 100 89
a2 TH 89 202 94 108
ENaE3TAH 105 212 103 109
e 4 TH 132 306 |49 157
maAES5TH 55 126 63 63
a6 TH 84 180 90 q0
A - G- 1,045 2,500 1,236 1,264
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EEAD (X3 - BTT 5)
Sf4F6H | B
w K A& /T T % # wF A o U2} 7T
LtES®RE | EWw I TH 182 407 194 213
£EWL2TBH 201 457 208 249
£WL3TBH 179 405 207 198
£ 4 TBH 340 902 393 509
£WL5TAH 270 616 291 325
£l 6 TH 285 688 350 338
£WL 7 T8 233 578 281 297
£WL 8 TBH 274 62| 308 313
WmEITB 432 925 429 496
WmwWE2TB 128 340 161 179
WwHE3ITE 232 524 272 252
WwWE 4 TB 152 363 175 188
W¥ESTBH 244 576 276 300
WwW¥E6TRBH 265 637 297 340
NS T B 30 67 35 32
N2 T B 351 916 456 460
N3 T B 181 407 209 198
NS4 T B 566 1,233 568 665
&1 TH 204 474 239 235
& 2T7TEH 233 588 282 306
T &3TH 136 330 176 | 54
& 4T7TH 264 684 327 357
T &5TEH 192 448 193 255
BARE | TH 186 48| 242 239
BRE2TH 207 574 279 295
BHREITHE 70 188 q3 a5
BARE4TH 201 465 222 243
BHRESTH 293 783 364 419
Afk& | TH |59 396 196 200
A& 2TH 168 42| 213 208
A& 3TH 341 806 399 407
AfR&4TH 677 1,536 708 828
# X E 7,876 18,836 9,043 9,793
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BEAD GBXF - BT T35

Sf4F6H | B
H B % Bq T 4% #H R A = B -8
Ry MR | @yl TH 170 756 500 256
BT E2TH |64 420 214 206
By aE3TH 191 455 229 226
BT E4THE 277 757 362 395
BT ES5TH 339 828 379 449
By R 6TH 317 q10 465 445
By ETTBE 418 1,148 59 | 557
W/ NI TE 286 708 334 374
W/ N2TH 225 568 274 294
W/ N3TH 364 qq | 483 508
W/ N4eTEB 2817 771 379 392
W/ N5TH 271 730 364 366
wr e TH 510 1,130 559 571
WrE2TH 44| 987 486 501
wrE3TH 353 1,015 512 503
WwWrE4TH 318 548 26| 287
BRI TE 270 713 356 357
BR2TE 440 1,035 518 517
BR3TAH 299 745 374 371
BR 4 TEBE 331 611 295 316
wE | TH | 140 34 106
v B 3 TH |7 46 22 24
#H K3 6,289 16,012 7,99 | 8,021
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